C/R. Carrascoi Formiguera, 3

08192 Sant Quirze del Valles [Barcelona -
Spain]
T +34 935442003 F +34 902876503
www.batec - mobility.com info@batec -
MOBI L I TY mobility.com

INSTALLATION DOCUMENT 0 INSTALLING
BATEC ON FIXED -FRAME CHAIR

PARTS:

- BATEC

- BATEC DOCKINBAR
- BRACKETS

- BRACKET CLAMPS
- CLAMPS

LIST OF TOQLS

- 8¢ 30 NmTORQUE WRENCH

- 4mmANDS5 mm ALLENWRENCHES
- PIPE CUTTER

- BATECEVEL

- TAPE MEASURE

CONTENTS

STEHA ¢ SELECTING MATERIALS.......ooiiiie e 2
STEP 2 SELECTING CLAMPS ... 5
STEP § ATTACHING THE CLAMPS TO THE BRACKETS. ...t 8
STERLQCUTTING THE BATEC DOCGIBINRS. .........ccooiiiiiiiie e 13
STEP § ATTACHING THE BRACKETS TO THE BATEC BABKING...........cc.c........ 16
STEP @ PUTTING THE BATEC DOCHBAIEON THE CHAIR.......cooiiiiee, 17
STEP € CENTRING THE BATEC DOGCBRYRG.........ccoiiiiiiiiiiiie e 20
STEP § LEVELLING THE BATEC DOGBARG.........cccovmiiiiiiiieirimiii e 24
STEP @ ADJUSTING THE HEIGHT OF THE BATEC DBAKING............cccvvvvvnnnne. 25
STEP 1Q INSTALLING BRAKES ON THE CHAIR.......ooviii 26

STEP 1§ ADJUSTING THE DISTANCE BETWEEN THE BATEC AND THE CHAB® (FEET)
STEP 12 ADJUSTING THE DISTANCE BETWEEN THE BATEC AND THE CHAR (ARMS)

STEP 18 ADJUSTING THE STEM HEIGHT. ..ot 32
STEP 14 VERIFICATION OF BATEC INSTALLATION......ccoviiiiiiiiiiiiiee e 33
PAGE 1/35

INSTALLATION DOCUMENT NUMBER/VERSION: ID -004/3 .0 APPLICATION DATE: 07/10 /16


http://www.batec-mobility.com/

— C/ R. Carrasco i Formiguera, 3
B ‘ l I E‘ 08192 Sant Quirze del Valles [Barcelona - Spain]
T +34 935442003 F +34 902876503

MOBILITY www.batec -mobility.com  info@batec -mobility.com

STEP & SELECTING MATERIALS

BATEC DOCKINBAR- ref. 53.04.01

SELECT THE BRACKETS

1. FOR SQUARE FIXHRAME CHAIRS

ul [ off |
° °
N ° ° N
U [ U
\l L/
° ° ]\L]

PAGE 2/35

INSTALLATION DOCUMENT NUMBER/VERSION: ID -004/ 3.0 APPLICATION DATE: 07/10 /16


http://www.batec-mobility.com/

— C/ R. Carrasco i Formiguera, 3
B ‘ l I E‘ 08192 Sant Quirze del Valles [Barcelona - Spain]
T +34 935442003 F +34 902876503

MOBILITY www.batec -mobility.com  info@batec -mobility.com

0 FIXEEFRAME BRACKETSL P\B - ref. 53.0110

2. FOR FIXEBRAME CHAIR WITH TAPERED SEAT

T 7 ” \ “\ -
E Yy AAY =
I a4 \ \
| 7 Vi N\ N\
| & Vi N\ N
I Vg a W N\
| 4 Vi N\ \,
7 \ \
7 ) N\ \
4 4 N\ N\ /
4 /// N\,
~ ° A 7 \ \ ° —~
/// 7 \\\ \\\
Vi 4 NN
Vi 7 NN
V4 \Y \Y
//// Vi N \\\
7 N\
// // N\ \
/ /// \\\\
4 /// N\ \
/// Vi A N\
4 Vi N\ N\
7 \ N\
Vi 4 NN
V3 7 NN
Va 7 N N\
\
H | A vatll
ey 7 < =
1 = Bl e i1 =
s
| = f =1 [
| | 1 | l| | |
i |
\ [ "
" \‘ j J
N /] 4
\
N ! 2/
RN Ny //
N N I 7014
N = 7
\
I//\ /\\\I/

PAGE 3/35

INSTALLATION DOCUMENT NUMBER/VERSION: ID -004/ 3.0 APPLICATION DATE: 07/10 /16


http://www.batec-mobility.com/

— C/ R. Carrasco i Formiguera, 3
B ‘ l I E‘ 08192 Sant Quirze del Valles [Barcelona - Spain]
T +34 935442003 F +34 902876503

MOBILITY www.batec -mobility.com  info@batec -mobility.com

0 FIXEEFRAME BRACKETS1 P\ - ref. 53.0110, WITHADAPTORS
FOR FIXED FRAME WITH TAPERED BEAT- ref. 53.05.04

PAGE 4/35

INSTALLATION DOCUMENT NUMBER/VERSION: ID -004/ 3.0 APPLICATION DATE: 07/10 /16


http://www.batec-mobility.com/

— C/ R. Carrasco i Formiguera, 3
B ‘ ‘ I E‘ 08192 Sant Quirze del Valles [Barcelona - Spain]
T +34 935442003 F +34 902876503

MOBILITY www.batec -mobility.com  info@batec -mobility.com

STEP 2 SELECTING CLAMPS

Select the rightCLAMPSor the diameter and shape of the wheelchair frame
tube.

See theBATECOMPATIBILITY TABLE

Make sure the diameter and shape of the frame tube and Gh&AMP Sre the
same.

Diameter or cross sectiol
of the clamp must be the
same as that of the tube

Frame tube

PAGE 5/35

INSTALLATION DOCUMENT NUMBER/VERSION: ID -004/ 3.0 APPLICATION DATE: 07/10 /16


http://www.batec-mobility.com/

C/ R. Carrasco i Formiguera, 3
08192 Sant Quirze del Valles [Barcelona - Spain]
T +34 935442003 F +34 902876503
www.batec -mobility.com info@batec -mobility.com

N)IATEC

MOBILITY

TYPES OF CLAMPS FOR HIRAME WHEELCHAIRS

1 STANDARD CLAMPS FOR ROUND TUBE

1 D2 N19

- M8 DIN 985

T~ M8 DIN 125

[ M8x50 DIN 7380

| ref 53.02.40

D2 N25
L M8 DIN 985
T M8 DIN 125
R~
L M8x50 DIN 7380

| ref §3.02.42

1 D2 N30

M8 DIN 985
- M8 DIN 125
[ M8x55 DIN 7380

| ref 53.02.44

1D2 N22

<1M8 DIN 285
T TM8 DIN 125

rM8x50 DIN 7380

Jref 53.02.41

| D2 N28.8

4L M8 DIN 285
1 M8 DIN 125
s

M8x55 DIN 7380

| ref 53.02.43

1 D2 N31.6

1 D2 N35

M8 DIN 985

1 M8 DIN 125

FM8x55 DIN 7380

ref 53.02.44

INSTALLATION DOCUMENT

PAGE 6/35

NUMBER/VERSION: ID -004/ 3.0

APPLICATION DATE: 07/10 /16

M8 DIN 285
M8 DIN 125
F M8x55 DIN 7380

| ref 53.02.45


http://www.batec-mobility.com/

N)IATEC

MOBILITY

C/ R. Carrasco i Formiguera, 3
08192 Sant Quirze del Valles [Barcelona - Spain]
T +34 935442003 F +34 902876503

www.batec -mobility.com info@batec -mobility.com

17 OTHER CLAMPS FOR TUBES WITH SPECIAL SHAPES

1D2 A

KUSCHALL
ADVANCE

M6 DIN 125
PM6X35 DIN 912

ref 53.02.07

1D2 NH

QUICKIE

- M8 DIN 985

/M8 DIN 125

> M8x55 DIN 7380

| ref 53.02.47

1D2 NJ

PROGEO
JOKER

~11 M8 DIN 985
&/ T M8 DIN 125

r M8x55 DIN 7380

) ref 53.02.48

1D2 NC

CYCLONE
XLR

r M8 DIN 285

¥/ M8 DIN 125

" M8x60 DIN 7380

INSTALLATION DOCUMENT

PAGE 7/35

ref 53.02.50

NUMBER/VERSION: ID -004/ 3.0 APPLICATION DATE: 07/10 /16


http://www.batec-mobility.com/

C/ R. Carrasco i Formiguera, 3

—
B ‘ l I E‘ 08192 Sant Quirze del Valles [Barcelona - Spain]
T +34 935442003 F +34 902876503

MOBILITY www.batec -mobility.com  info@batec -mobility.com

STEB ¢ATTACHING THE CLAMPS TO THE BRACKETS

Attach the CLAMPSto the BRACKETB A G K G(G(KS &aONBga
tighten. The parts should be able to slide.

USING-IXEEFRAME BRACKED1 P\3

LINR A R

DIFFERENT INSTALLATION OPTIONS USINGRANHDBRACKET

-D1 P\8¢IN STANDARD POSITION

5,3 mm

A+
—

PAGE 8/35

INSTALLATION DOCUMENT NUMBER/VERSION: ID -004/ 3.0 APPLICATION DATE: 07/10 /16



http://www.batec-mobility.com/

OBILITY

N)BATEC

PAGE 9/35


http://www.batec-mobility.com/

— C/ R. Carrasco i Formiguera, 3
B ‘l I E ‘ 08192 Sant Quirze del Vall s [Barcelona - Spain]
T +34 935442003 F +34 902876503

MOBILITY www.batec -mobility.com  info@batec -mobility.com

DIFFERENT INSTALLATION OPTIONS USINGRANHDBRACKET
-D1 P\B¢ IN INVERSE POSITION

2=

INSTALLATION DOCUMENT NUMBER/VERSION: ID -004/ 3.0 APPLICATION DATE: 07/10 /16


http://www.batec-mobility.com/

NNNNNNNNNNNNNNNNNNNN

PAGE 11/35

33333333333333333333333333
ilitv.com  info@batec -mobili

APPLICATION DATE: 07/10 /16


http://www.batec-mobility.com/

— C/ R. Carrasco i Formiguera, 3
B ‘ ‘ I E‘ 08192 Sant Quirze del Valles [Barcelona - Spain]
T +34 935442003 F +34 902876503

MOBILITY www.batec -mobility.com  info@batec -mobility.com

USING FIXEERAME BRACKETD1 P\3 - WITH ADAPTORS FOR
FIXED FRAME WITH TAPERED SB3 8.

PAGE 12/35

INSTALLATION DOCUMENT NUMBER/VERSION: ID -004/ 3.0 APPLICATION DATE: 07/10 /16


http://www.batec-mobility.com/
































































